]

L0 0 -1¥
. oo dy . =Y
Write in simplest form. = - % - 7 l/“‘ —
NCR 3 2
" Write in simplest form. 5x =20
Tx~28
Sy~
(y-a) _s
D) 7
3. 8x° 20
Multiply. s
4. 3x=-27 6x
Multiply. —
Py x> —10x 9-x
5. - —
Divide. 2x 6+5x 15 in‘@’kp
21 12 =X} 5x~v;
12{2x0) + 21 (G)aalg_) —
ZU(x-2) " w6 (R3) Za
24 /e

6. Subtract Express your answer in simplest form.

16 16

(R

f;’ﬁt}
- X

s

k2

c)

7. Add. Express your answer in simplest form.

x° +17x+70
x+10 x+10
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10.

11.

12.

13.

14.

What values for x must be excluded in the following' fraction?

x+2 2
x*—-9x+14
Solve. zC—-—£=9
2 3
Solve. f_l:3x~8
3 4 12
Solve. _?__:_E__
x~3 x+5

A car uses 10 gallons of gasoline on a trip of 370 miles. At that rate, how much

gasoline will a trip of 518 miles require?

Simplify. ——31-
34—
m
Simplify. —2—%-
n_
14
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